1 (6082 + 648 + 952 = (O[19(439 x 47 = O
2 [0 %621 = ()]20(97.94 x 100 = O
310 + = 745 Ol21|11 +3£ = O
4 17400 +2 = (O]22(2 of24 = O
5 + 70 = 603 (O)]23]|9—4.394 = O
6 [4.64+ 6.6 = (O]24|5 +3= O
7 (240 + 4= Ol25|L+ 1= O
8 [4592 + 7= (O] 26|31 —9.286 = O
9 [7240 — 1384 = (0|27 |60% of 3400 = O
1019356 x 10 = (D] 28]4% of 6000 = O
11140 +2 = (O]29|5x 1.1 = O
12|12 x5 x 3 = ()[30(20% of 122 = O
13 (1100 + 11 = Ol31[t x4 = O
1415000 — 50 = ()32 4%_%: O
15 = 448 x 7 ()]33|1764 =+ 63 = O
16]9.68 = 10 = (]34 5_3%: O
17630 + 21 = O|354+10+2= O
185 + 15 = (O|36] % x200= O

Remove ads? Enter the membership code here: Enter code here



https://mathsbot.com/membership

